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sinx CcoST . .
tgx = , ctgrx = ——, sin(x+ 2kw) =sinz, cos(x+ 2km) = cosz,
COS T sin

tg (x + k) =tgx, ctg(x+ km) = ctgx, where k is

sinz + cos’z =1,

sin2x = 2sinx cos x,

DERIVATIVES
(¢))=0

(z%) = az®!
(@)=

(a*) =a®lna
(Inx) = %

(log, )" = Zia
(sinz) = cosx
(cosz) = —sinz
(tg2) = b
(etg ) = — b
(arcsinz) = 11—932
(arccosx) = — ==
(arctg ) =
(arcctgx) = ﬁ
(shz) =chz
(chz) =shz
(the) = G
(cthz) = — =

an integer number;

2 2

COS 2 = cos“ x — sin”“ x.
INTEGRALS
[0dx =C
fdx=x+C
a anrl
Jaxtdx =5 +C for a# -1

Jtde=Inlz|+C

[etdr=¢e"+C

= 4+C

Ina

[ a*dx =

[sinzdr = —cosxz+ C

fcosxdr =sinx + C

dx

1
f sin?

ctgx + C

1
f cos?

dr =tgx +C

fﬁdmzarctg&:—i—@’

f@dw = arcsinz + C

[shzdr =che+C

Jchxdr =shx+C

fﬁdasz—cthx#—C’

| de=thz+C

| A de =In|z+ Va2 Tk +C,

IV ¥ hdr = Ve k+ Enfo+ Va2 Tk + C

2 .
Jva?—a?dr = §va? — x? + G arcsin & + C




